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Economics 102 Name '7’#

Fall 2017
First Midterm with Answers
Date: Thursday, October 12, 2017

The exam consists of three parts: (1) 11 Binary Choice Questions worth 2.5 points each (27.5
points total); (2) 20 Multiple Choice Questions worth 3.5 points each (70 points total); (3)
Administrative Points worth 2.5 points that are awarded to you for correctly filling out the
required information on your scantron and your exam booklet. Please accurately and completely
provide your name, student ID number and section number on the provided scantron as well as
on the exam booklet. Answer all questions on the scantron sheet with a #2 pencil.

NO CELL PHONES, CALCULATORS, OR FORMULA SHEETS ARE ALLOWED FOR
THIS EXAM.

PICK THE BEST ANSWER FOR EACH QUESTION.

Section Time and Location TA
340 Fri. 9:55 AM - 10:45 AM, Social Science 5322 Steven Zhang
341 Thurs. 3:30 PM - 4:20 PM, Social Science 5322 Lois Miller
342 Thurs. 2:25 PM - 3:15 PM, Social Science 4314 Lois Miller
343 Fri. 2:25 PM - 3:15 PM, Social Science 6203 Lois Miller
344 Fri. 11:00 AM - 11:50 AM, Van Hise 140 Lois Miller
345 Fri. 12:05 PM - 12:55 PM, Ingraham 116 Yunhan Shin
346 Fri. 8:50 AM - 9:40 AM, Ingraham 214 Yunhan Shin
347 Fri. 1:20 PM - 2:10 PM, Ingraham 222 Yunhan Shin
348 Fri. 2:25 PM - 3:15 PM, Social Science 6102 Yunhan Shin
350 Fri. 11:00 AM - 11:50 AM, Van Hise 595 Steven Zhang
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I . agree to neither give nor receive any help on this exam
from other students. Furthermore, I understand that use of a calculator on this exam is an
academic misconduct violation. I also understand that failure to cover my answers is academic
misconduct: it 1s important that I maintain the integrity of my work and that 1 do not make it
available to other students.

. _——
Dty = wac.. K b Signed - N Lﬂb
2l = S K K 20-4(Y)= 1 \q::"{;”" £ |
260 _«x f\/ﬂf@'@‘ébf T
6y
You Dow'I” 1. You are given the following two equations:

AEALY Eq. 1: Y=20-4X Ej |
NEmDANY Eq.2: Y=2.5X-6 —— BN
MATH!,  Suppose Eq. 1 shifts such that for every Y value, the new X \alue is 10 unii& . Which of

@Howmg statements is true? Mﬂ

@The y-value of the intersection of the new Eq. 1 with the original Eq. 2 is less tlmn the y-value
for the intersection of the original two lines.
b. The y-value of the intersection of the new Eq. 1 with the original Eq. 2 is more than the y-
value for the intersection of the original two lines.

EAT 2. You are given the following equation:
Y=10-3X

Suppose the equation shifts such that for every X value, the new Y value is 2 units larger. Given

this information, what 1s the equation of the new line?

a Y =4-3X

@Y:12—3X

EA,;Y 3. Which of the following questions is an example of normative economics?

a. How much additional revenue will be generated from increasing a tariff on bananas from
0.10 per 100 bananas to $0.20 per 100 bananas? FosiFw<

b)Should the government increase the tariff on bananas, considering the revenue that will be

raised and the people who will be affected by the tariff increase? pfpvinatit-e
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‘{5 IS f\/ 4. The production possibility frontier of Friesberg, which produces only ships and tables, is
shown below:

PPF of Friesberg
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As Friesberg produces more ships, the opportunity cost of producing 1 ship in terms of tables is:

a. decreasing

(b)increasing
T)EFJN’ triod 5. _is a branch of economics that studies the behavior of individuals and firms and
how these entities make decisions regarding the allocation of scarce resources. also

considers the interactions among these individuals and firms.

icroeconomics

.. b. Macroeconomics ... e

PEﬁ NiTtoeNOG. is the study of the behavior of the aggregate economies or economic systems
instead of the behavior of individuals, individual firms, or markets. It is concerned primarily with
gross national product, the level of unemployment, and inflation.

a. Microeconomics
@ Macroeconomics

Ay 7. When a third-year Ph.D. student claims that he has climbed Bascom Hill 637 times, is he
DEFTI onl talking about a flow measure or a stock measure?

a. Flow measure e
(B)Stock measure Meatupe deda P mtmh
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Sl 8. The profit for a firm is given by: VoA m = (Mﬁ;}_&w ] (tov7e)
ORI Profit = Revenue — Cost 20,009
The monthly revenue for Badger’s Dairy Farm is $50,000 and the monthly cost is $30,000.
MNeT Y
HAED Suppose the monthly revenue for Badger’s Dairy Farm increases by 20% and, at the same time,

the monthly cost for Badger’s Dairy Farm increases by 30%. Given this information and holding
everything else constant, what will happen to the monthly profit of Badger’s Dairy Farm?
= % = /
he monthly profit increases by 5%. AR 7 ‘/’ W EK(JZ: %)= 5
b. The monthly profit decreases by 10%.

9. Suppose that ZARA, a Spanish clothing manufacturer, produces only two products=facket

~—%>  and pants (P). ZARA has three production alternatives: (J,Py= (30 0), (20, 25), and (40, 0). In
this case, ZARA is faced with

ThiT LS

a. constant opportunity cost 0 ?,/0) =
increasing opportunity cost Sl
& OPP 4 LrrInotie (L7 €4
made !

NoT #ARP 10. The economy consists of two people: Kumail and Emily. The following equations give
Kumail’s and Emily’s individual demand curves for stuffed pizza where Q is the quantity of
stuffed pizza and P is the price per stuffed pizza:

Kumail’s demand curve for stuffed pizza: P=2-Q
Emily’s demand curve for stuffed pizzais P=2 - 2Q
Given this information and holding everything else constant, What is the economy -wide demand

function for stuffed pizza? [ um %g @
- s
a. 2P =4-3Q / >
(BHQ=3-G2)P vV ,-(p =P
3 2 (2~ -P)
Eal ‘;j 11. Consider the statement:
“In 2016, China produced more motor vehicles than any other country in the world wh1ch

implies that China has the comparative advantage in producing motor vehicles.”
Is this statement true or false? 40 =3~ “" P

wi nel
. 7?] have abSolufe &d(/axﬂzk%( b
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Part 1. Multiple Choice Questions (20 questions each worth 3.5 points = 70 points)

JusT 12. Pick the graph that corresponds with the following information: for every 2 unit increase in
A in the y variable, the x variable decreases by 3 umnits.

THZ Gr:aph AX MF W‘MSZW‘LW
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13. Jiro’s sushi place makes two types of sashimi: Tuna (T} and Salmon (S). He knows that for

T ' ) 7 . \
% every extra Tuna (T) sashimi he makes he must give up making (1/3) Salmon (S) sashimi. He is
currently making 7 Tuna (T) sashimi and 9 Salmon (8) sashimi. Given this mformatlonﬁmiw

& AD holding everything else constant, which of the following expressions is Jiro’s pleduet

possibility frontier?

@S =-(1/3) T +34/3
b.S=-(1/3) T+31/3
c. §=-3T+34/3
d.S=-3T+31/3
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Use the following information to answer the next FOUR (4) questions.

Wisconsin and Minnesota are two economies each producing two goods: cheese (C) and waffles
(W). Currently the two economies do not trade with one another. Assume that both economies
have linear production possibility frontier (PPF) and that they can produce any combination of C
and W that lie on these linear PPFs. The tables below provide the information about each state’s
production possibilities frontier. '

Wisconsin’s Production Alternatives
Products A B C
Units of Cheese 0 40 80
Units of Waffles 40 20 0
Minnesota’s Production Alternatives
Products D E
Units of Cheese 0 30 60
Units of Waffles 80 45 0

Jat fows
PKW(M&LE 14. Wisconsin’s opportunity cost for producing an additional unit of waffles 1s LC 7 while
Minnesota’s opportunity cost for producing an additional unit of cheese is % W . Giventhe
information in the tables, Wisconsin should specialize in producing ffieesz  while Minnesota
should specialize in producing M]@Q

a. 0.5 unit of chee? 2 units of waftle; cheese; waffles
b. 0.5 unit of cheesd; 2 units of waffle; waffles; cheese

2 units of cheese! 1.5 units of wafflg: cheese‘;/\/va.fﬂes
d. 2 units of cheese; 1.5 units of waffle; wafﬂeg\, cheese™

SomE g 15:-Suppose the-economy-of Wisconsin-tries to produce 20 units of cheese and-30 units of - -
WERIC 7 waffles and the economy of Minnesota tries to produce 40 units of cheese and 40 units of wafiles.
REATIN N GGiven this information, which of the following statements is true?

a. The production plan of Wisconsin is not efficient, but feasible. K
b. The production plan of Minnesota is efficient. X Netfeasilsle
c. The production plan of Wisconsin is not feasible. X

The production plan of Minnesota is not feasible. v~

L
5. Wge PPF W=40-=2C
Wise. MINN Sorf 0 =20

W A )
4o ([—L @2 £ W,;L/Q»—Lz;cu) —«302)&,
o : - (C,w) =G, 30) fear
20 ¢ MMy B / ,zﬁvuf
) “I & lymmndes (8) q(c)

7
o 9 I
@ [0-3(/\/ w INN PPF W= 70~ 2% C
OLHlla 5w 0CN1Co 2 W pesion Sof C= 10 =7

6CQIWG2C QWP ZC w0~ 72 (19 = 30

/
Ccw)= (4o, 40) net feasitles



Soass 16. For this question, construct Wisconsin and Minnesota’s joint PPF. Please measure cheese (C)
(o jc: on the horizontal axis and waffles (W) on the vertical axis. Which of the following expressions
PREDIH 5 and the corresponding ranges for each segment of the joint PPF are correct?

S
a.w=130—§-cmroscs80 Y
w:zm—-ﬁ-c for 80 < C < 140
c.wzzm—%é‘fmosc < 80

d. W=130—-§% for 80 < C < 140

/
i/@)f W}/ 17. Suppose that 20 units of cheese are traded. Which of the following represents a range of

'TWO trading prices in terms of waffles that would be acceptable to both Wisconsin and Minnesota?
The acceptable range of trading prices for 20 units of cheese would be
Conpeel”

Al S a. between 5 and 30 units of waffle. X 5 /¢ fr9 [
between 10 and 15 units of waffle.

¢c. between 5 and 15 units of waffle. X 5 1+ oo low
@ between 10 and 30 units of waffle. v~

¢, jo:mfi’ 444

¢ hecle Dowsans et | AUl ane reccondhle

130 1 /i’"‘m]
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Use the following information to answer the next FIVE (5) questions.

Smallworld is a small economy. Its market for beef is characterized by the following demand and
supply equations where Q is the quantity of units of beef and P is the price per unit of beef:
Smallworld’s Demand for Beef: QP = 100 -2P
Smallworld’s Supply of Beef: Q5 =P —20
The world price for beef is P¥ = $30 per unit of beef.

rade ¢
NoT HA~D 18. Suppose Smallworld open@ beef market to international la-equilibrium, what is the level of

NoT HA®RD

consumer surplus (CS) and producer surplus (PS) in the market for beef in Smallworld?

v X
a. CS = $400, PS = $100

(5.)cs = $400, PS = $50*"

T CS = $2009PS = $100
d. CS = $2008Ps = $50

19. Suppose Smallworld now closes its border and withdraws from trading in the world beef
market. What is the new consumer surplus (CS’) and producer surplus (PS”) in Smallworld’s
market for beef?

2. CS’ = $206°PS’ =$100
b.CS = $2099/PS’ =$50

ACiCS” =81007PS” =$100 ¥
(A dXCS’ = $100.PS” = $200 ¥

NITH ,412,5 20. What is the Smartworld’s deadweight loss (DWL) due to its withdrawal from the world beef

'ket? I
marke 4. Cgamwd 5 Eﬁg@(;;o&%ﬁ
i‘. ?‘ﬁoo 2 o L MaLEs () 4 (k)
@$]50 PS R {a_r:o,_.;_g)(;lg)
A= =
d. $200 clowes 20¢16) =¥%200
¥, Q@b =ivo-f @5z p-r0 = elimmater (@)
= oo -aqQ7 p = &0
2;: s50- 40 2. TSoper = %256
— k300
p-L Q=@+ 7S cloved = R
SN O S et et T B
P‘?de = Yo b~ 60 3Q
and g 124 'WW/CJ > 7 d
| !
¥ Doy~ s = 2 (50'30)(/7!0)
9” [ ) zi,() loy W : ‘L"l 0(}()):#1{—0‘2) = el iz, (C—J 9@)
b =e 2 - L (30-30) (1) |
QDW‘ W:: 5C10) = 450 =2 elimmolis @)
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5/},{\[’ 21. When Smallworld withdraws from the world beef market, economists in Smallworld argue
that trade 1s beneficial and that Smallworld should re-enter the intemational market for beef.
Which of the following @ true?

Smallworld consumers are better off when Smallworld opens up its market for beef.” 7"
b. Smallworld producers are better off when Smallworld opens up its market for beef. &
¢. Both Smaltworld consumers and Smallworld producers are better off when Smallworld opens
up its market for beef. ~
d. None of the above statements is true. |~

§a\m(’ 22. Suppose Smallworld re-opens its market for beef but, at the same time, introduces a per-unit

woprtC:  tariff of §5 for each unit of beef imported. What is the deadweight loss (DWL) due to the
NoT imposition of this tariff?
DA D

a. $0

b. $12.50

© $37.50
d. $112.50

if P= 3¢
g (ptE 35T /S
p: AP= 109 -2635)7 5

£ (55 ~30
pwi = S (35-30)(Is10) L (35280 )( 30

L (5 FEe)

— 2.0+ 28

:‘:#?71*5’3
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Use the following information to answer the next THREE (3) questions.

In Tomorrowland, a very small closed economy, the supply and demand for Macroeconomics
textbooks are given by the following demand and supply equations where Q is the number of

textbooks and P is the price per textbook measured in dollars: 5 a D= 9p0— F
o—=P
Domestic demand in Tomorrowland: P = 200 — 5Q - =1 5
Domestic supply in Tomorrowland: P = 40 + 3Q < 3 6? S~ FP 4

The world price of a Macroeconomics textbook is $70.

Semewor/ 23, When Tomorrowland’s economy is closed, the equilibrium price of a Macroeconomics
textbook is and the equilibrium quantity of Macroeconomics textbooks 1s It
Tomorrowland opens this market to trade, the total quantity of imports wouldbe [{ .

a. $20; 100 textboolé 26 textbooks

@$100 20 textbooké/ 16 textbooks ¥

c $20; 100 textb00k7§- 6 textbooks
d. $100; 20 textbooks; 10 textbooks K

Somewa’d 24. Suppose the government of Tomorrowland decides to open up its Macroeconomics textbook
market to trade. Domestic Macroeconomics textbook producers, upset by this new trade policy,
lobby President Marco to protect their industry by issuing a number of licenses, each giving the
license holder the right to import a limited quantity of Macroeconomics textbooks. Specifically,
this import quota limits the total quantity of imports to 8 Macroeconomic textbooks. This import
quota policy will raise the domestic price of a Macroeconomics textbook to

i Qe @ w] port quts

a. $75

b. $80 s F‘P—-L”*— +< = 10 FP]

(B85 L US)® olisy -3P
d. $90 o | - 5P§;OO_-, to US) ~gUSIT 00

SomE whrK2S. Given the import quota described in the last question, the license holder revenue is | 29
and the deadweight loss from the imposition of this import quota is

a. $60X$]120 Sp= 40US) - 2SR
$170“$60 — v
d..$12,0; $30>< f= _?:5_[5 ,_7,.}3
L3 200 -5¢ 4ot 3¢ l;“ o~ F8 = ¥s
(6o Y@ -
o = d? :760/!\1/1!\’1‘4‘(” G") CP((C’) 12_5- LfZM‘}C H‘D/iq/ i/ZQWUQ -
= 200 -5 T 1Ov Y-
mli'): 40*,361/-)-:_ (D I,) }0 (Z'E-'?‘O)C(?fwﬁ)
Yool o if %y = 300 3962 () 5)(54 H20
e 5‘%3’3 D0 [ t6-t0=lmprels  elommarten (2) ()
s e ERSTONL | = ey

" Do 5 7 #0130 o Lommahs (A1) [W+ o
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Use the following information to answer the next TWO (2) questions.

The market for the Nintendo Switch is characterized by the following demand and supply
equations where ( 1s the quantity of Nintendo Switches and P is the price per Nintendo Switch:
Demand Curve for Nintendo Switches: Q°=20-P  p7/ 1 7%z22-p

Supply Curve for Nintendo Switches: Q=P — 10 [ai gb[&_i
The market for Nintendo Switches is currently in equilibrium. Ag-p= P-io
KAy 9

S omE W)t 26. After a successful marketing campaign, people now demand 2 more Nintendo Switches at /{72 /
T HARL  every price level. Which of the following is true about the new market equilibrium?

a. The new equilibrium quantity of Nintendo switches is 2 unitsxgreater than the initialf@f fe
equilibrium quantity. fe =K

(b} The new equilibrium quantity of Nintendo switches is 1 unit greater than the initial it
‘equilibrium quantity.

c. The new equilibrium price for a Nintendo switch is 2 dollars greater than the initial I3 L
equilibrium price. X & Qe
d. The new equilibrjum price for a Nintendo switch is 2 dollars smaller than the initial NOT bRAWN
equilibrium price. )Q ToScALE
newes,
A4tE 017 27, Suppose that the marketing campaign is accompanied by a major production expansion by Jp-p= #-i0
[ABETER = Nintendo so that at every price level more Nintendo Switches are produced. Which of the 32 T2F
pmidAA Y- following is true about the new equilibrium price? /& FF
PREQITABLE e [mmatelc)d
a. Compared to the initial equilibrium price, the new equilibrium price for a Nintendo switch is d)
higher. [fP b
b. Compared to the initial equilibrium price, the new equilibrium price for a Nintendo switch is DG =&
lower. Elimametes e}

¢. The new equilibrium price for a Nintendo switch is the same as the initial equilibrium price.
@ All of the above answers are possible. .;:/ s,

Fij =35 D= Cﬂb: Lfow“éclg';) re :_. > w‘(//S’L

r? &P=40-~ !?:5;03 i
- 5":73},’5‘;'Lg—é;gg)""""3f |
25" $- 45 =15 _ -
p & =z gé
FEREN S pom puwL = 2 (F=10) (5-10)+ L (s 10 (%6723)
= LsHs) 5 Us)G)

[ov — = % - fzsh'

gL _ﬂ_ . /gm&ﬁ _ o /?L )

o furcld T == T 60

10 elmmares @)
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Use the following information to answer the next TWO (2) questions.

Suppose in the closed economy of Greensville, the market for croissants is characterized by the
following equations, where Q is the quantity of croissants in thousands and P is the price per
croissant (in dollars).

Demand Curve for Croissants: QP = 18 — 4P

Supply Curve for Croissants; Q¥ =2P — 6

28. Suppose the current price of croissants in Greensville is $3/croissant. Given this information
and holding everything else constant, which of the following statements is true?

a. There is a surplus of croissants in Greensville. X

b. The market for croissants in Greensville is in equilibrium. X

@T here are likely to be long lines to buy croissants in Greensville.

d. Consumer behavior is likely to drive the price of croissants in Greensville down.#” ¥/ X

29. Suppose instead that the current price of croissants in Greensville is $4/croissant. Now,
suppose the price of muffins (a substitute for croissants) in Greensville rises from $3/muffin to
$4/muffin. Holding everything else constant, how will the quantity and price of croissants in
Greensville change?

oth the quantity and price of croissants will increase. \g

7 Both the quantity and price of croissants will decrease.
c. The quantity of croissants will increase but the price of croissants will decrease.\<
d. The quantity of croissants will decrease but the price of croissants will increase.

28 Cloged € ooy

f= 473

S

Qs =2(3)-6 = ¢

27.

{/f‘mf"!ﬂ*?t"”(‘{)/Cé)/ (5/)

p = 1Y )N St crorirasy
vo jpoyCy) = l=16 = 2 L N | e
=} q N Pa P c T
CQ‘:,LC'”“é =2z ’)] mu]ﬁfm Fr
g 2 b i
1 {thH r-,sl\f“ffm
Dl o Pz

VERSION 1



Use the following information to answer the next TWQ (2) questions.

Greenland produces chairs. There are nine firms in all in Greenland that produce these chairs: six
of these firms are identical and have supply curves given by the following equation where P is
the price per chair and Q is the quantity of chairs:

Individual Supply Curves for a representative firm in this first group of firms: P =10 +2Q

There are an additional three firms that also produce chairs: these three firms have identical
supply curves that are given by the following equation:

Individual Supply Curves for a representative firm in the second group of firms: P = 60 + Q

30. If the price of a chair 1s $60, how many chairs will be produced in all?

,:.E_¥Wv ’BW{‘M = FP=[0t2Q

a. 12 chairs ]£ f~ 6o
B T M
150 chairs r :__QGOJ f?d? & ""‘*L'ﬁy”‘ £ B
COZC0tE o 6 (2= IsDehars o G

TH#IS 1£ A 31. In this same market for chairs there are five consumers with identical demand curves where

HAe D each individual's demand curve is given by the following equation: Q - | 35-5P
= 5 G =
PRoBLa Indmdua] consumer demand curve: P =255 —Q ¢ "’2__ 5(7"95’:, P)J-f p=1x #$ ’Q
CoNC2ATS Qo © p= 25564
| ~ Given this information and holding everything else constant, how many chairs (’T 0es each
ou consumer buy when this market is i equilibrium? Mgkt e mand : P 52 ¥
— o _ﬁ_’
GET!T 4 600 chairs 268 /3 Cmrum;rr P9 1275
{ b.)120 chairs L
¢. 100 chairs Di Dmarket
d. 60 chairs e v
End of Exam! Thank you! L. it
f s o 's : ?? N muf-lf T
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5 e 70 @ '
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: Second
71029 3 = Fo FRSIOT\A
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@=L o Syse Oy 377I%0 e
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Work Space:

[Herantive!
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